Engineering Mathematics(I1I)

Department of Harbor and River Engineering, National Taiwan Ocean University
due 30/12 morning, Fall 1994, J. T. Chen

HW No.1 Different points of view for Poisson summation formula:
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(a). By setting z = Re® and z, = pe'®, show that the Cauchy integral formula:
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(b). Show that
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(c). Derive the Poisson summation formula.

B 1 2T (R2 - p2)
u(p, p) = g/o [R2 + p% — 2Rp cos(f — ¢)]

g(0)do, f(z) = u+iv

KKokkok Moment, generating function KKk sk koK skok sk ok sk sk skook sk sk ok sk kokokskokoskokokoskokok

L= _! + i r"cos(nf)
2(r2 +1—2rcos()) 2 4

AR TR BR IE SR T =
[ 7% : E:/ctex/course/math3/94hw4.te] [#iHE:Dec./5/'94])




